Organic and Biomolecular Chemistry

Reduction of 2-Chlor o-N-phenylpropanamide and 2-Methyl-N-

phenylaziridine with Lithium Aluminium Hydride

Mie Hgjer Vilhelmsen, Lars Frasig, Mogens Brandsted Nielsen,* Steen Hammerum*
Department of Chemistry, University of Copenhagen, Universitetsparken 5, DK-2100
Copenhagen &, Denmark.

E-mail: mbn@kiku.dk, steen@kiku.dk

SUPPORTING INFORMATION

MASS SPECTRA (EI)
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M ass Spectrum of N-propylaniline (4)
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M ass Spectrum of N-isopropylaniline (5)
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M ass Spectrum of 2-Methyl-N-phenylaziridine (3)
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M ass Spectrum of 2-Phenylamino-1-propanol (6)
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Mass Spectrum of 1-Phenylamino-2-propanal (7)
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